








= commandwindow

= clc

- close all

= syms vy

y=dsolve ('Dy=(50* (1+sin(t))- (0.025*y))"','y(0)=150")
= precty (v)

= t=0:0.5:450

T yn=subs (y, t)

— plot(t,yn, 'red’)
grid on

grid minor

WM~ W N
I

L i S S R P
DT TN T O T P
1=l

Graph

2500 T T T T T T T T

2000

1500

1000

500

0 50 100 150 200 250 300 350 400 450




NUMBER 2

commandwindow
clear

clc

close all

syms time
x= [}
time = 1:1:500;

y =(50/0.05) + (50/1.0025)*sin(time) + (2.5/1.0025)*cos(time) - ((=xp(-0.05*time|
ymsan = 1000 - ((exp(-0.05*time))*800);
if rem(time,2) = 0
x = [x,ymean];
else
x = [x,v];
end

excelvalues = transpose(x):

mins = transpose(time)

plot(time, Xx)

grid on

grid minor

xlabel('time (minutes)')

viabel (*Volume (litres)')

xlswrite('odevbesdata.xlsx', {‘time (min)'}, ‘Veriler', 'Al')
xlswrite('odevbesdata.xlsx', {'V (litxss)'}, 'Veriler', 'Bl')
xlswrite('odevbesdata.xlsx', mins, 'Verilesxr', 'A2')
xlswrite('ocdevbeasdata.xlsx', excelvalues, 'Veriier', 'B2')
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Below are the values generated from Excel

First range of values:

t(min)

24”750 naar

V(Litre)
1 279.9639
27 276.1301
3 313.8601
a7 345.0154
5 327.9009
6’ 407.3454
7 469.1423
8" 463.724
9 506.5922
107 514.7755
11 487.1398
127 560.9507
13 604.2824
147 602.7318
15 651.4694
16" 640.5368
17 608.3676
187 674.7443
19 699.585
20" 705.6964
21  759.541
227 733.7031
23 702.3679

veriler

Last range of values:

477’ 977.2894
478 1000
479" 1049.892
480 1000
481" 981.1861
482 1000
483" 965.767
484 1000
485 1047.306
486 1000
487" 994.8607
488 1000
489" 956.9717
490 1000
491" 1040.952
492 1000
493" 1008.945
494 1000
495 951.6039
496 1000
4977 1031.335
498 1000
499" 1022.316
500 1000

T veriler (
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